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Let any side, say the base, of a triangle be divided
into as many parts as it contains nnits of length.
Through the pointe of division draw lines parallel to

the sides, and, through the points of intersection of
these Unes, draw Unes parallel to the base. The tri-
angle is thus divided into a number of triangles equal
to one another in all respects, and all similar to the
original triangle. It will be observed that, considering
these triangles in rows, the rows contain 1, 3, 5, 7, . .

triangles, respectively. Hence if the base be 2 units
in length, the krge triangle contains l + 3=2» small
triangles; if 3 units in length, l + a + 5=3» small
triangles; if 4 nnits in length, l + 3 + 5 + 7=4> small
triangles; and so on. Thus if there be two similar
triangles, the base of one containing 3 units of length,
and the base of the other 4 units of length, the
number of smaU triangles in one will be 3», and in
the other 4», all such triangles being equal to one
another. Hence the areas of the triangles ore as 8*
to 4', i.e., as ^e squares of the bases.


